714 A x|

=
QleiA BRIX|/ Qleis 2

=
E

| —_ - = = A o y =
EH 22120
NE MHH
QlHlA EHXE ol Al (x| ME) Eo{E <lsH ALSH
A4 AHIQIE|A AR T2 28 LAIMEE 7HEL
A o ge we
%i‘“ EI-ZE
. AHQIZIA AEl1.4401
&xo| B2l 875
ZHaE AFHEE 9 ¢
o AEIQIZIA AEI 14401 LA E3
&zo|
Q

Q7tAM X PAG, A-3|M £
. AH|IQIZIA ARl 1.4401

&z uHE
. AHQIZIA AEl1.4401
a=
d3 | d3
R | b
Ll i
-~ |
= Y = ]:
L | Sw II 1
Vi 5
o R
‘MY [ ]
v /]
V] %
- [ | /=
I3 |
d F
L 2 a3 LHE
f=1| d, | 22120.1514 - .1520
a3 a3 2
=S el
x| Az @ i ME HS.
d d, I, ds Iy I Iy Fy F, %A Z|cH
-0,02 LIPS ~ ~
-0,05
[mm] [N] [°C] [a]
AtAaM H - 321
4 M 8x1 4 16 35,0 16 5 35 11 -30 80 12 22120.1144
4 M 8x1 6 16 35,0 22 6 45 16 -30 80 1 22120.1164
5 M10 x 1 5 19 35,0 16 5 3,0 1 -30 80 20 22120.1145
5 M10 x 1 8 19 48,0 22 6 40 20 -30 80 18 22120.1165
6 M12 x 1,5 6 23 40,0 18 6 3,0 12 -30 80 33 22120.1146
6 M12x 1,5 9 23 58,0 26 8 6,0 23 -30 80 33 22120.1166
8 M16 x 1,5 8 28 58,0 26 8 7,0 26 -30 80 67 22120.1168
8 M16 x 1,5 12 28 40,0 18 6 3,0 14 -30 80 70 22120.1148
10 M16 x 1,5 12 28 58,0 26 8 75 32 -30 80 70 22120.1180
12 M20 x 1,5 15 33 715 33 10 9,0 32 -30 80 141 22120.1182
AEQIBA AEILH _ T3] 2
4 M 8x1 4 16 35,0 16 5 35 11 - 100 21 22120.1154
4 M 8x1 6 16 35,0 16 5 3,0 1 - 100 22 22120.1174
5 M10 x 1 5 18 40,0 18 6 3,0 12 - 100 36 22120.1155
5 M10 x 1 8 18 40,0 18 6 3,0 14 - 100 37 22120.1175

VEAY HESRIY

HO|x[1~2]2
EEHALDER IHAl: 17.5.2024


http://halder.com/kr/22120.1144
http://halder.com/kr/22120.1164
http://halder.com/kr/22120.1145
http://halder.com/kr/22120.1165
http://halder.com/kr/22120.1146
http://halder.com/kr/22120.1166
http://halder.com/kr/22120.1168
http://halder.com/kr/22120.1148
http://halder.com/kr/22120.1180
http://halder.com/kr/22120.1182
http://halder.com/kr/22120.1154
http://halder.com/kr/22120.1174
http://halder.com/kr/22120.1155
http://halder.com/kr/22120.1175

714 A x|

| —
TR
olsiA ZK / QA 2E

[

% Az & [ ME ¥,
d, d, I, d; 14 I3 Iy F4 F, | A =|cH
-0,02 A ~ ~
-0,05
[mm] [N] [°C] [o]
6 M12x1,5 6 22 48,0 22 6 45 16 - 100 60 22120.1156
6 M12x1,5 9 22 48,0 22 6 4,0 20 - 100 63 22120.1176
8 M16 x 1,5 8 27 58,0 26 8 6,0 23 - 100 117 22120.1178
8 M16x 1,5 12 27 58,0 26 8 7.0 26 - 100 118 22120.1158
10 M16 x 1,5 12 27 58,0 26 8 75 32 - 100 135 22120.1190
12 M20 x 1,5 15 32 71,5 33 10 9,0 32 - 100 229 22120.1192

M A2
x| x| AtO|= i ME HS.
d;
[mm] [mm] [g]
2t L{1E 1SO 8675 (DIN 439), AE|QIE|A ALl 1.4401
M 8x1 13 2,8 22120.1514
@ M12x 1,5 18 76 22120.1516
‘ M10 x 1 16 5.4 22120.1515
' M16 x 1,5 24 18,0 22120.1518
M20 x 1,5 30 33,0 22120.1520

18 &g

M Y &2 HE

i

Hio{H ot 5 HEE ME AR,

rr
I

tNHALDER H0|x| 2 ~2] 2

IHAl: 17.5.2024


http://halder.com/kr/22120.1156
http://halder.com/kr/22120.1176
http://halder.com/kr/22120.1178
http://halder.com/kr/22120.1158
http://halder.com/kr/22120.1190
http://halder.com/kr/22120.1192
http://halder.com/kr/22120.1514
http://halder.com/kr/22120.1516
http://halder.com/kr/22120.1515
http://halder.com/kr/22120.1518
http://halder.com/kr/22120.1520

